MOJOTONE TWEED SUPER/PRO WIRING DIAGRAM

BRIGHT NORMAL
GROUND 3 AMP. FUSE ON / OFF STANDBY PILOT LIGHT - %
ya— Vs
22
i
= |
r\/\ . % H
I N 8 .
P O - PRESENCE VOL. BRI\ SHT VOL. NOR/ \AL
y 5K Lin T 1M Log 1M Log
Il
\V - 2\ N

#8 GROUND TAB
PT MOUNTING STUD
R E—

#8 GROUND TAB
PT MOUNTING STUD
R E—

ey

~
.
o

-~
-~
-~
.
~
o
-~
-
~
-
~
“
-~
-
-
| <
|

INSULATE

MOJO752EX

|
|
|
|
|
POWER TRANSFORMER J
|

MOJO777
3.5H CHOKE

S
N ook ;&

USE GREEN 4 OHM TAP
FOR SUPER

USE YELLOW 8 OHM TAP FOR

PRO

INSULATE
o

s

56 N5 6 5 3w, 8
B _ ) Vo 4 ( ) [ ) .
s . s ‘“NNN%Q\""“"\%Q\""\""\" . é"‘é"é“'\%%"\‘."\""\""\""\’."’ = \v‘\%‘\‘."\""\""\""\’."’é’é 2
6 5 6
(S 4 \ 1/ \ g 5 g g 3 4
\ N ) N
#6 GROUND TAB #6 GROUND TAB
POWER CORD 5U4 6L6GC e 6L6GC — SPEAKER OUTPUT EXT. SPKR. 12AX7 1?:::;:’;;#:;" 12AY7
HARDWARE:
6 QTY 4-40 X 1/4" SCREWS FOR NOVAL TUBE SOCKETS
6 QTY 4-40 X 3/8" SCREWS FOR OCTAL TUBE SOCKETS
12 QTY 4-40 KEPS NUTS o
3 QTY 6-32 X 1/2" SCREWS FOR EYELET BOARD mnﬂn TWEED SUPER / PRO
3 QTY 6-32 KEPS NUTS REVISION 4
4 QTY 8-32 X 1/4" SCREWS FOR CHOKE AND OUTPUT TRANSFORMER [ N = 11/24/23

8 QTY 8-32 KEPS NUTS
2 QTY 10-32 X 1 1/2" SCREWS FOR CHASSIS
2 QTY 10-32 KEPS NUTS



